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Ableiten mit Summen-, Faktor-, Produkt- und Quotientenregel - Lésung
Lésung: jeweilige Ableitungsfunktion f’'(x):

a) f'(x) = 9x2 — 4x;

b) f'(x) = 5% +5;

c) fa'(x) = 50ax®;

d) f'(x) = [x%] - gx% =3Vx;
e) f'(x) =5;

1 4 9

N =-5-5—=

§) F'(0) =[x 3] = —Zxi = -
h) £/(x) = 2x(1 — x2) + x?(=2x) = 2x — 2x% — 2x3 = 2x — 4x%;

i) £(x) = (4x — 1) (x — 3x2) + (2x2 — 2)(1 — 6x) = -+ = —24x3 + 1522 — 2x;

) F100) = [( = 5)(x% = 5)]' = 2x(x? — 5) + (x? — 5)2x = 4x(x? — 5) = 4x® — 20x;

k) f'(x) = 5x* —12x3 — 6x% + 12x;

) f(x) = (1+x2)(ii;ga)cj—1)2x _ 2x(1(—:i1;;c22+1) _ (1:9:2)2;

m)f'(x) = (x+2()xl;2()x2_2)1 - x-(k;;zac)-gz - (xfz)z;

n) f'(x) = (1_36(21)_0;23)(2_2@ = (1_6;:2)2"

o) () = L = s~

o) F'(x) = (2-%)23-3x[(-1)(2—x)+(2-x)(-1)] _ 3(2—x)2+6x(2—x) _ 3(2—x)+6x _ 3x+6

(2-x)* (2—-x)* T 2-x3 (2-x0)3’



